AP Calculus AB 3.1 - 3.6 Topics
1. How many critical points does the function have if f’(x)=(x+ 2)5 (x- 3)4 ?
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2. What is the definition of extrema? MAY e o2 wan's

3. What is the definition of differentiation? BEWe 4BLe To FINd o2 SOLVE
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4. What is the definition of an open interval? An W Tevic THRT Does AOT
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5. If the second derivative is equal to zero, there is a point of inflection.
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6. If there is a relative max or min on a closed interval, then the derivative is
equal to zero.
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7. If f (a) =f (b) and the function is continuous on the closed interval, there must be a
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Critical Value Method

Where does the function have positive y — values, where does it have negative y — values?
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10. Sketch the function using the methods of curve sketching.
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11. Sketch the function using the methods of curve sketching.
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12. Sketch the function using the methods of curve sketching.
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(hint: Simplify the function before finding the derivative)
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